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EAZFEREICE T O IREANERER

Fr7E it : 48 102-46

BF24EE
AEE - KR B ARR(RATOY—AVEEER) | s =
5cm 50¢m 100cm
Ot ER (L) — 0.05 — PA-1000
10/1(K)EY @QFRYEFYNO — 0.04 — PA-1000
@RUFH — 0.05 — PA-1000
Ot ER (L) — 0.06 — PA-1000
4/14(R) BN @FRY&EHYNO — 0.06 — PA-1000
QR F — 0.06 — PA-1000
ERE3EE
TSI 5 45 AEE(RATAZ—ANEER) | gyorne %
5cm 50¢m 100c¢m
Ot ER (1) — 0.05 — PA-1000
10/1 () BN @IRYEFYO — 0.05 — PA-1000
QR F — 0.05 — PA-1000
Ot Ep (L) — 0.07 — PA-1000
4/15(B)EN @IRYEFYO — 0.06 — PA-1000
QR F — 0.05 — PA-1000
2/8 (38)



EAZFEREICE T O IREANERER

Fr7E it : 48 102-46

R 30LERE
AEE - KR AT A ARR(RATOY—AVEEER) | s =
5cm 50¢m 100cm
Ot ER (L) — 0.05 — PA-1000
10/1(B) BN @QFRYEFYNO — 0.05 — PA-1000
QRUF — 0.06 — PA-1000
Ot ER (L) — 0.06 — PA-1000
4/9(R)EN @FRY&EHYNO — 0.05 — PA-1000
QRUFH — 0.06 — PA-1000
295
B R Bl ARE(RATAY AR | e %
5cm 50c¢cm 100cm
Ot Es (L) — 0.06 — PA-1000
10/2(R) BN @FRY&EHYNO — 0.05 — PA-1000
QRUFH — 0.06 — PA-1000
Ot Es (L) — 0.06 — PA-1000
4/13(R) BN @FRY&EHYNO — 0.07 — PA-1000
QRUFH — 0.07 — PA-1000
3/8 (38)



EAZFEREICE T O IREANERER

Fr7E it : 48 102-46

R 284ERE
AEE - KR B ARR(RATOY—AVEEER) | s =
5cm 50¢m 100cm
Ot ER (L) — 0.07 — PA-1000
10/3(R)EY @IRYEFYO — 0.06 — PA-1000
QRUF — 0.06 — PA-1000
Ot ER (L) — 0.07 — PA-1000
4/18(R)HEN @FRY&EHYNO — 0.07 — PA-1000
QRUFH — 0.06 — PA-1000
TRR27EERE
TSI Bl AEE(RATAZ—ANEER) | gyorne %
5cm 50¢m 100c¢m
Ot ER (1) — 0.07 — PA-1000
10/1(K)EENL @IRYEFYO — 0.07 — PA-1000
QR F — 0.08 — PA-1000
Ot Ep (L) — 0.08 — PA-1000
4/20(A)EY Q@FRYEHYNO — 0.11 — PA-1000
BRUF — 0.10 — PA-1000
4/8 (38)



EAZFEREICE T O IREANERER

Fr7E it : 48 102-46

TR 264ERE
AEE - KR AT A ARR(RATOY—AVEEER) | s =
5cm 50¢m 100cm
Ot ER (L) — 0.09 — PA-1000
1/5(A)Eh @IRYEFYO — 0.09 — PA-1000
QRUF — 0.09 — PA-1000
Ot ER (L) — 0.09 — PA-1000
10/10K)£Y @FRY&EHYNO — 0.08 — PA-1000
QRUFH — 0.09 — PA-1000
Ot Es (L) — 0.10 — PA-1000
7/1CR) BN @FRY&EHYNO — 0.08 — PA-1000
@RUFH — 0.10 — PA-1000
Ot ER (1) — 0.11 — PA-1000
47BN Q@¥RYEFYND — 0.11 — PA-1000
QRUF — 0.10 — PA-1000
5/8 (38)



EANERAEICE TS RERELR

et - $7102-46

FRR25%K
I B - X 0E 1% 5 AZE(RATOY—ANEER) | gy s
5cm 50cm 100cm
Ot ER (L) — 0.10 — PA-1000
3/7(%£) Bh @¥FRYEHYO — 0. 10 — PA-1000
QRUFH — 0. 08 — PA-1000
- Ot ER (1) — 0. 09 — PA-1000
1/}%%?&5%“ QFRYARYNO — 0. 09 — PA-1000
QRUFH — 0. 10 — PA-1000
Ot hibER (1) — 0. 09 — PA-1000
11.711(A) Bh @¥FRYEHYO — 0. 10 — PA-1000
QRUFH — 0. 10 — PA-1000
Ot i ER (1) — 0. 11 — PA-1000
9./110K) £Y @FIRYEHYO — 0. 11 — PA-1000
QRUFH; — 0. 10 — PA-1000
Ot hibER (1) — 0. 11 — PA-1000
7/74(K) £Y Q@FRYEHYNO — 0.10 — PA-1000
QRUFH — 0. 11 — PA-1000
Ot i ER (1) — 0. 11 — PA-1000
5/210K) Bh @FRY&EHYNO — 0. 11 — PA-1000
QRUFH; — 0. 11 — PA-1000
6/8 (z8)



F ARLEIZE TSGR

et - $7102-46

SRERR (FR23~24F %)

TR244EE
AEE - X AEA ARREATEY BT ] pes %
5cm 50cm 100cm
Ot ER (1) — 0.13 — PA-1000
3/1(K) Bh @ RYEHYO — 0.12 — PA-1000
QRUF — 0.12 — PA-1000
S— Ot ER (1) — 0.12 — PA-1000
1 21(A) Bh @F~NY&FRYO — 0. 11 — PA-1000
QRUFH — 0. 11 — PA-1000
Ot Ep (1) — 0.13 — PA-1000
12/6(K) EEh @¥FRYEHYO — 0.13 — PA-1000
QRUFH — 0.13 — PA-1000
Ot Es (L) — 0. 14 — PA-1000
11130k Bh @I RYEHYO — 0.12 — PA-1000
QR F — 0.12 — PA-1000
Ot hibER (1) — 0.13 — PA-1000
10.75(&) EEh @ RYEHYO — 0.12 — PA-1000
QRUF — 0.12 — PA-1000
Ot i ER (1) — 0.13 — PA-1000
9/6(K) Bh @I RYEHYO — 0.13 — PA-1000
QR F — 0.13 — PA-1000
Ot ER (L) — 0.15 — PA-1000
8.78()K) Bh @IRYEFYO — 0.14 — PA-1000
QRUF — 0.13 — PA-1000
Ot i ER (1) — 0.15 — PA-1000
176(&) Bh @I ~RYEFYO — 0. 16 — PA-1000
QR F — 0.13 — PA-1000
Ot ER (1) — 0.15 — PA-1000
6.712(k) £Y QFRYARYNO — 0.17 — PA-1000
QRUF — 0.17 — PA-1000
7/8 (z8)



EAZRBBRIZHITHETHR

Fr7E it : 48 102-46

=REFRR

23~ 244 B
B B - K0 A ARBEATELANEBR) | e fi%
5cm 50cm 100cm
Ot ER (1) — 0.16 — PA-1000
5-14(R) Bh @QIRYEFYO — 0.19 — PA-1000
QRUF — 0.17 — PA-1000
Ot ER (1) — 0. 20 — PA-1000
416(K) £Y @¥FRYEHYO — 0. 20 — PA-1000
QRUFH — 0.18 — PA-1000
Ot Es (L) — 0.19 — PA-1000
3/13(K) EBh @I RYEHYO — 0. 20 — PA-1000
QRUFH — 0.18 — PA-1000
Ot hibER (1) — 0.18 0.14 PA-1000
2/79(K) Bh Q@FRYEFRYNO — 0. 20 — PA-1000
QRUFH — 0. 20 — PA-1000
- Ol E8 (£) — 0.19 0.19 PA-1000
1/$(m,ff¢ﬁ§h @F~RY&FYO — 0. 20 — PA-1000
QR F — 0.17 — PA-1000
127200K) Bn Bt ER (L) — 0. 22 0.19 PA-1000
1117(€) Bh b ER (L) — 0. 20 0.18 PA-1000
Bt ER (L) — 0. 22 0. 20 PA-1000
10721(%) Y & 7k it — 0. 21 — PA-1000
HE A A — 0. 29 — PA-1000
Tf234 Sk #t —_ 0. 27 — PA-1000
9./140K) BEh 1A _ 0. 26 — PA-1000
8/8 (z8)



